
Only for 2,0 meter version
Nur bei 2,0 Meter version

A19 8 107 A2

A1

8 A4

A5

A5

A6

A2

A3

A2

A1

A3

A2

Pos. A3 
4x 
Self locking nut
DIN 982 - M6
AISI 304

Pos. A2
8x 
Washer
DIN 125 - A6
AISI 304

Pos. A1 
5x 
Hex head screw
DIN 931 - M6x18
AISI 304

Pos. A6 
4x
Self locking nut
DIN 982 - M8
AISI 304

Pos. A5
8x 
Washer
DIN 125 - A8
AISI 304

Pos. A4 
4x 
Hex head screw
DIN 931 - M8x20
AISI 304

Pos. 7 
1x

221140; 221141; 221150; 221151; 221142; 221143; 221152; 221153

Stainless steel water trough - 1,0 meter + 2,0 meter

DOcID 20900

Assembly Instructions



W1
F2

F1

F4

F5

F5

F3

F6

F5

F5

F6

W2W3W3W4

Pos. F6
16x 
Self locking 
nut
DIN 982 - 
M10
AISI 304

Pos. F5
32x
Washer
DIN 125 - 
A10.5
AISI 304

Pos. F4
8x 
Hex head 
screw
DIN 931 - 
M10x25
AISI 304

Pos. F3
8x 
Hex head 
screw
DIN 931 - 
M10x70
AISI 304

Pos. F2
4x 
DWG20364

Pos. W4
4x
Self locking nut
DIN 982 - M10
AISI 304

Pos. W3
8x
Washer
DIN 125 - A10.5
AISI 304

Pos. W2 
4x
Hex head screw
DIN 931 - M10x25
AISI 304

Pos. F1 
2x
221145

Pos. W1
2x
221146

Wall mounting / Wandmontage Floor mounting / Bodenmontage

DOcID 20900


	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht19
	Zeichenansicht21
	Zeichenansicht22
	Zeichenansicht23
	Zeichenansicht25
	Zeichenansicht29
	Zeichenansicht33
	Detailansicht B (2 : 15)
	Detailansicht C (2 : 15)
	Detailansicht D (1 : 10)

	Blatt2
	Zeichenansicht3
	Zeichenansicht4
	Detailansicht A (1 : 5)
	Zeichenansicht6
	Zeichenansicht7
	Zeichenansicht8
	Zeichenansicht9
	Zeichenansicht10
	Zeichenansicht11
	Zeichenansicht12
	Zeichenansicht13
	Zeichenansicht14
	Zeichenansicht15
	Detailansicht E (1 : 5)


